表 90 保險對象門診部分負擔狀況 —按權屬別分

中華民國九十一年

單位:新台幣元,件

		權屬別 Ownership	件 數 Cases
總	計	Grand Total	317,501,186
醫院		Hospitals	103,103,031
公	立醫院	Public Hospitals	27,770,275
	行政院衛生署所屬醫院 及市立醫院	Hospitals Subordinate to DOH and Municipal Hospitals	10,778,582
	縣市立醫院	County & City Hospitals	1,622,696
	公立醫學院校附設醫院	Hospitals Affiliated with Public Medical Schools	3,556,822
	軍方醫院(民眾診療)	Civilian Clinics of Military Hospitals	4,382,132
	榮民醫院	Veterans Hospitals (VACRS)	6,997,894
	機關(構)附設醫院	Hospitals Affiliated with Enterprises	119,481
	公立中醫醫院	Public Hospitals of Chinese Medicine	312,668
私	立醫院	Private Hospitals	75,332,756
	財團法人醫院	Non-Profit Proprietary Hospitals	30,192,286
	宗教財團法人附設醫院	Hospitals Affiliated with Non-Profit Proprietary Religious Organizations	3,320,682
	醫學院校附設醫院	Hospitals Affiliated with Medical Schools	6,152,540
	其他法人附設醫院	Hospitals Affiliated with Other Non-Profit Proprietary Organizations	1,465,569
	私立醫院	Private Hospitals	32,573,933
	私立牙醫醫院	Private Dental Hospitals	-
	私立中醫醫院	Private Chinese Medical Hospitals	1,627,746
診所		Clinics	213,877,818
公	立診所	Public Clinics	5,627,397
	行政院衛生署所屬診所 及市立診所	Clinics Subordinate to DOH and Municipal Clinics	139,180
	縣市立診所	County & City Clinics	127,029
	衛生所	Health Stations	3,213,637
	公立學校附設醫務室	Clinics Affiliated with Public Schools	30,374
	軍方診所 (民眾診療附設門診部)	Civilian Clinics of Military Clinics	138,755
	榮民診所(榮家醫務室)	Veterans Clinics (VACRS)	260,234
	機關(構)附設診所	Clinics Affiliated with Enterprises	1,718,188
	公立中醫診所	Public Clinics Practicing Chinese Medicine	-

備註:1.部分負擔不含掛號費。

^{2.}資料更新日期為92年5月31日。

Table 90 Ambulatory Care Copayment Paid by Beneficiaries — by Ownership

2002 Unit: NT\$,Case 金額 平均每件費用 Copayment Expenditures Average Copayment Per Case 25,294,600,589 80 13,120,400,096 127 3,460,337,738 125 1,406,203,119 130 171,031,911 105 547,083,400 154 551,788,922 126 743,576,933 106 10,005,793 84 30,647,660 98 9,660,062,358 128 4,847,966,698 161 413,448,429 125 1,018,681,655 166 171,526,778 117 3,070,560,098 94 137,878,700 85 11,916,304,307 **56** 347,334,428 **62** 7,125,650 51 5,558,990 44 151,678,658 47 1,732,140 57 8,436,840 61 14,947,480 57 157,854,670 92

^{2.} The data is updated on May 31, 2003.

表 90 保險對象門診部分負擔狀況 一按權屬別分(續完)

	中華民國九十一年	單位:新台幣元,件	
	權屬別 Ownership	件 數 Cases	
私立診所	Private Clinics	208,250,421	
財團法人附設醫務室	Clinics Affiliated with Non-Profit Proprietary Organizations	37,236	
宗教財團法人附設診所、醫務室	Clinics Affiliated with Religious Non-Profit Proprietary Organizations	7,900	
私立學校附設醫務室	Clinics Affiliated with Private Schools	5,795	
事業單位附設醫務室	Clinics Affiliated with Enterprises	542,047	
私立診所	Private Clinics	159,593,764	
私立牙醫診所	Private Dental Clinics	23,013,314	
私立中醫診所	Private Clinics Practicing Chinese Medicine	25,050,365	
其他醫療機構	Other	408,006	
財團法人其他醫療機構	Other Non-Profit Proprietary Hosp. & Clinics	408,006	
藥局	Pharmacies	31,187,166	
護產機構	Nursing Institutions	99,157	
公立護產機構	Public Nursing Institutions	300	
財團法人護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Organizations	4,928	
其他法人附設護產機構	Nursing Institutions Affiliated with Other Non-profit Proprietary Organizations	1,074	
個人開設護產機構	Personal Nursing Institutions	29,772	
公立醫療機構附設護產機構	Nursing Institutions Affiliated with Public Med. Care Institutions	20,481	
私立醫療機構附設護產機構	Nursing Institutions Affiliated with Private Med. Care Institutions	20,535	
財團法人醫療機構附設護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	21,999	
其他	Other Nursing Institutions	68	
其他醫事機構	Other Med. Care Institutions	13,174	
公立精神復健機構	Public Psychiatric Rehabilitation Institutions	-	
財團法人精神復健機構	Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-	
其他法人附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated With Other Institutions	422	
私立精神復健機構	Private Psychiatric Rehabilitation Institutions	11,123	
公立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions	1,101	
私立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	413	
財團法人醫療機構附設精神復健 機構	Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	115	
其他	Other	-	

Table 90 Ambulatory Care Copayment Paid by Beneficiaries — by Ownership (Cont'd)

	2002 Unit: NT\$,Case
金 額 Copayment Expenditures	平均每件費用 Average Copayment Per Case
11,568,969,879	56
3,405,180	91
-	-
293,800	51
44,582,580	82
8,279,576,414	52
1,155,595,758 2,085,516,147	50 83
<u> </u>	-
-	-
243,860,255	8
14,030,036	141
20,851	70
604,143	123
87,856	82
5,411,932	182
2,252,513	110
3,063,052	149
2,588,307	118
1,382	20
5,895	0
-	-
-	-
-	-
5,895	1
-	-
-	-
-	-
	-

表 91 保險對象住院部分負擔狀況 一按權屬別分

		中華民國九十一年	單位:	新台幣元,件,日
		權屬別 Ownership	件 數 Cases	日 數 Inpatient-Days
總	計	Grand Total	2,945,904	26,652,638
醫房	.	Hospitals	2,864,789	26,397,677
Ž	公立醫院	Public Hospitals	854,175	9,850,512
	行政院衛生署所屬醫院 及市立醫院	Hospitals Subordinate to DOH and Municipal Hospitals	316,915	4,021,818
	縣市立醫院	County & City Hospitals	29,510	228,221
	公立醫學院校附設醫院	Hospitals Affiliated with Public Medical Schools	92,115	933,612
	軍方醫院(民眾診療)	Civilian Clinics of Military Hospitals	166,195	1,529,367
	榮民醫院	Veterans Hospitals (VACRS)	246,647	3,064,682
	機關(構)附設醫院	Hospitals Affiliated with Enterprises	2,793	72,812
	公立中醫醫院	Public Hospitals of Chinese Medicine	-	-
禾	ム立醫院	Private Hospitals	2,010,614	16,547,165
	財團法人醫院	Non-Profit Proprietary Hospitals	873,918	7,193,048
	宗教財團法人附設醫院	Hospitals Affiliated with Non-Profit Proprietary Religious Organizations	97,851	693,620
	醫學院校附設醫院	Hospitals Affiliated with Medical Schools	176,409	1,468,626
	其他法人附設醫院	Hospitals Affiliated with Other Non-Profit Proprietary Organizations	57,904	750,267
	私立醫院	Private Hospitals	804,532	6,441,604
	私立牙醫醫院	Private Dental Hospitals	-	-
	私立中醫醫院	Private Chinese Medical Hospitals	-	-
診角	ŕ	Clinics	81,023	254,735
1	公立診所	Public Clinics	-	-
	行政院衛生署所屬診所 及市立診所	Clinics Subordinate to DOH and Municipal Clinics	-	-
	縣市立診所	County & City Clinics	-	-
	衛生所	Health Stations	-	-
	公立學校附設醫務室	Clinics Affiliated with Public Schools	-	-
	軍方診所 (民眾診療附設門診部)	Civilian Clinics of Military Clinics	-	-
	榮民診所(榮家醫務室)	Veterans Clinics (VACRS)	-	-
	機關(構)附設診所	Clinics Affiliated with Enterprises	-	-
	公立中醫診所	Public Clinics Practicing Chinese Medicine	-	-
			ĺ	

備註:1.部分負擔不含掛號費。

^{2.}資料更新日期為92年5月31日。

Table 91 Inpatient's Copayment Paid by Beneficiaries — by Ownership

2002 Unit: NT\$,Case,Day

	20	V2	Unit · N15,Case,Day
金 額 Copayment Expenditures	平均每件費用 Average Copayment Per Case	平均每件住院日數 Average Length of Stay	平均每日費用 Average Copayment Per Diem
5,671,323,086	1,925	9.05	213
5,662,681,056	1,977	9.21	215
1,634,268,725	1,913	11.53	166
491,907,759	1,552	12.69	122
53,589,045	1,816	7.73	235
309,272,277	3,357	10.14	331
331,709,796	1,996	9.20	217
445,171,775	1,805	12.43	145
2,618,073	937	26.07	36
-	-	-	-
4,028,412,331	2,004	8.23	243
2,126,903,302	2,434	8.23	296
176,021,966	1,799	7.09	254
427,201,255	2,422	8.33	291
87,216,159	1,506	12.96	116
1,211,069,649	1,505	8.01	188
-	-	-	-
-	-	-	-
8,642,030	107	3.14	34
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-

^{2.} The data is updated on May 31, 2003.

表 91 保險對象住院部分負擔狀況 一按權屬別分(續完)

中華」	單位:新台幣元,件,日		
	權屬別 Ownership	件 數 Cases	日 數 Inpatient- Days
私立診所	Private Clinics	81,023	254,735
財團法人附設醫務室	Clinics Affiliated with Non-Profit Proprietary Organizations	-	-
宗教財團法人附設診所、醫務室	Clinics Affiliated with Religious Non-Profit Proprietary Organizations	-	-
私立學校附設醫務室	Clinics Affiliated with Private Schools	-	-
事業單位附設醫務室	Clinics Affiliated with Enterprises Private Clinics	81,023	254,735
私立診所 私立牙醫診所	Private Chines Private Dental Clinics	01,023	234,733
私立中醫診所	Private Clinics Practicing Chinese Medicine	_	_
其他醫療機構	Other	_	_
財團法人其他醫療機構	Other Non-Profit Proprietary Hosp. & Clinics	-	-
藥局	Pharmacies	-	-
護產機構	Nursing Institutions	92	226
公立護產機構	Public Nursing Institutions	-	-
財團法人護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Organizations	-	-
其他法人附設護產機構	Nursing Institutions Affiliated with Other Non-profit Proprietary Organizations	-	-
個人開設護產機構	Personal Nursing Institutions	85	218
公立醫療機構附設護產機構	Nursing Institutions Affiliated with Public Med. Care Institutions	-	-
私立醫療機構附設護產機構	Nursing Institutions Affiliated with Private Med. Care Institutions	-	-
財團法人醫療機構附設護產機構	Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	7	8
其他	Other Nursing Institutions	-	-
其他醫事機構	Other Med. Care Institutions	-	-
公立精神復健機構	Public Psychiatric Rehabilitation Institutions	-	-
財團法人精神復健機構	Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-	-
私立精神復健機構	Private Psychiatric Rehabilitation Institutions	-	-
公立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions Psychiatric Rehabilitation Institutions Affiliated with	-	-
私立醫療機構附設精神復健機構	Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	-	-
財團法人醫療機構附設精神復健 機構	Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	-	-

Table 91 Inpatient's Copayment Paid by
Beneficiaries — by Ownership (Cont'd)

	200	2002 Unit: 1	
金 額 Copayment Expenditures	平均每件費用 Average Copayment Per Case	平均每件住院日數 Average Length of Stay	平均每日費用 Average Copayment Per Diem
8,642,030	107	3.14	34
-	-	-	-
-	-	-	-
-	-	-	-
8,642,030	107	3.14	34
-	-	-	-
-	-	-	-
- -	-	<u>-</u>	- -
-	-	-	-
_	_	2.46	_
-	-	-	-
-	-	-	-
-	-	-	-
-	-	2.56	-
-	-	-	-
-	-	-	-
-	-	1.14	-
-	-	-	-
-	-	-	-
-	-	-	-
- -	-	- -	- -
-	-		
-			-
			-
-	-	-	-

表 92 保險對象門診部分負擔狀況 一按型態別分

中華民國九十一年

	中華民國九十一年	單位:新台幣元,件
	型態別	件 數
]	Professional Category	Cases
總計	Grand Total	317,501,186
工殿	Institutions Practicing Western	266 076 756
西醫	Medicine	266,976,756
綜合醫院	General Hospitals	74,218,379
醫院	Ordinary Hospitals	24,295,650
專科醫院	Specialty Hospitals	1,572,947
精神科醫院	Psychiatric Hospitals	699,187
特殊科醫院	Special Hospitals	188,434
慢性醫院	Chronic Hospitals	188,020
專科診所	Specialty Clinics	100,423,495
一般診所(醫務室)	Ordinary Clinics	65,355,760
特殊科診所	Special Clinics	34,884
牙醫	Dental Institutions	23,013,314
牙醫醫院	Dental Hospitals	-
牙醫專科診所	Specialty Dental Clinics	30,857
牙醫一般診所	Ordinary Dental Clinics	22,982,457
中醫	Institutions Practicing Chinese	26,990,779
T 西	Medicine	20,330,773
中醫綜合醫院	General Chinese Medicine Hospitals	-
中醫醫院	Chinese Medicine Hospitals	1,940,414
中醫專科診所	Specialty Chinese Medicine Clinics	171,245
中醫一般診所	Ordinary Chinese Medicine Clinics	24,879,120
其他	Other	408,006
病理中心	Pathology Centers	408,006
藥局	Pharmacies	31,187,166
藥師自營	Operated by Pharmacists	16,818,548
藥劑生自營	Operated by Assistant Pharmacists	14,368,618
護產機構	Nursing Institutions	99,157
護理之家	Nursing Homes	11,916
居家護理	Home Nursing Cares	82,381
產後護理	Puerperium and Neonatal Care Centers	-
助產所	Midwifery Clinics	4,860
其他	Other	-
其他醫事機構	Other Med. Care Institutions	13,174
醫事檢驗所	Medical Laboratories	-
社區復健中心	Community Rehabilitation Centers	4,010
康復之家	Halfway Houses	9,164
醫事放射所	Radiology Centers	-

備註:1.部分負擔不含掛號費。

^{2.}資料更新日期為92年5月31日。

Table 92 Ambulatory Care Copayment Paid by Beneficiaries — by Professional Category

2002 Unit: NT\$, Case 平均每件費用 金額 Copayment Expenditures Average Copayment Per Case 25,294,600,589 80 21,627,066,138 81 10,735,633,113 145 2,035,918,462 84 101,744,244 65 72 50,503,246 64 11,986,135 86 16,088,536 5,175,790,516 52 3,498,054,136 54 1,347,750 39 1,155,595,758 **50** 1,477,950 48 1,154,117,808 50 2,254,042,507 84 168,526,360 87 13,265,110 77 2,072,251,037 83 8 243,860,255 9 151,430,295 6 92,429,960 14,030,036 141 2,026,418 170 12,003,168 146 450 0 5,895 0 0 750 5,145 1

^{2.} The data is updated on May 31, 2003.

表 93 保險對象住院部分負擔狀況 一按型態別分

中華民國九十一年

單位:新台幣元,件,日

	Pro	型態別 ofessional Category	件 數 Cases	日 數 Inpatient-Days
總	 計	Grand Total	2,945,904	26,652,638
西	,	Institutions Practicing Western Medicine	2,945,812	26,652,412
	綜合醫院	General Hospitals	2,195,677	18,907,967
	醫院	Ordinary Hospitals	533,991	4,026,618
	專科醫院	Specialty Hospitals	20,172	121,086
	精神科醫院	Psychiatric Hospitals	99,961	3,131,400
	特殊科醫院	Special Hospitals	8,953	47,925
	慢性醫院	Chronic Hospitals	6,035	162,681
	專科診所	Specialty Clinics	74,775	237,054
	一般診所(醫務室)	Ordinary Clinics	6,248	17,681
	特殊科診所	Special Clinics	-	-
牙	竪	Dental Institutions	-	-
	牙醫醫院	Dental Hospitals	-	-
	牙醫專科診所	Specialty Dental Clinics	-	-
	牙醫一般診所	Ordinary Dental Clinics	-	-
中	<u>設</u> 西	Institutions Practicing Chinese Medicine	-	-
	中醫綜合醫院	General Chinese Medicine Hospitals	-	-
	中醫醫院	Chinese Medicine Hospitals	-	-
	中醫專科診所	Specialty Chinese Medicine Clinics	-	-
	中醫一般診所	Ordinary Chinese Medicine Clinics	-	-
其		Other	-	-
•	病理中心	Pathology Centers	_	-
藥	· · ·	Pharmacies	-	-
	藥師自營	Operated by Pharmacists	_	-
	藥劑生自營	Operated by Assistant Pharmacists	-	-
護	產機構	Nursing Institutions	92	226
	護理之家	Nursing Homes	-	-
	居家護理	Home Nursing Cares	_	-
	產後護理	Puerperium and Neonatal Care Centers	-	-
	助產所	Midwifery Clinics	92	226
	其他	Other	-	-
其	他醫事機構	Other Med. Care Institutions	-	-
·	醫事檢驗所	Medical Laboratories	-	-
	社區復健中心	Community Rehabilitation Centers	-	-
	康復之家	Halfway Houses	-	-
	醫事放射所	Radiology Centers	-	-

備註:1.部分負擔不含掛號費。

^{2.}資料更新日期為92年5月31日。

Table 93 Inpatient's Copayment Paid by Beneficiaries—by Professional Category

2002 Unit: NT\$, Case, Day 平均每件費用 平均每件住院日數 平均每日費用 金額 Average Copayment Per Average Length of Average Copayment Per Copayment Expenditures Case Stay Diem 213 5,671,323,086 1,925 9.05 5,671,323,086 1,925 9.05 213 4,890,647,862 2,227 259 8.61 714,229,302 1,338 7.54 177 22,630,399 1,122 6.00 187 21,160,189 212 31.33 7 4,925,807 9,076,201 1,504 26.96 56 110 8,219,530 3.17 35 433,796 69 2.83 25 2.46 2.46

^{2.} The data is updated on May 31, 2003.